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Jul 28-10:15 AM 

Jul 28-11:13 AM 

Jul 28-12:02 PM 

Difference of 2 Squares 



Trinomials 

1)x2 - 4x - 5 * A * 4) 7x2  - 20x + 12 

2) x2  + 3x - 18 	5) 2x + 5x - 25 

3) x2  - 7x + 12 * r  6) 30x3  + 25x2  + 5x 
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Name: 	 Date: 	  
Day 2 

Factor Completely 

1) Factored completely, the expression 2y 2  +12y — 54 is equivalent to 

2) Factor completely: 3x 2  + 15x — 42 

3) Factor completely: 3x 2 - 27 

4) Written in simplest factored form, the binomial 2x 2  - 50 can be expressed as 

5) Factor completely: 5n 2  — 80 

6) Factor completely: 3ax2  - 27a 



7) Factor Completely: 5a 2  + 15a +10 

8) Factor Completely: ax e  — 18ax+ 77a 

9) Factor Completely: 4n 2  + 68n+ 240 

10)Factor Completely: Y 4-81 

11)Factor Completely: 3b2  + 15b+12 

12)Factor Completely: 6X2-6y2 



3 - C 

_MAYA_ 	 
Factor. Completely 

1),.4X2 - EIY2 	 +.113:0 

4) le)? x2y4 	 .-812-6-en01F100ty + y 

Oct 28-8:27 AM 

Factor Completely. 	  

1) x3 -4x 	 ._,..ZAR2  

— Y - 1 30 
	

4)2a 1237-1.7ab + 3b 

Oct 26-8:27 AM 

Oct 22-2:09 PM 

Factoring Completely  

To factor a polynomial coMpletely: 
1) Look for a GCF 
2) Count the number of terms 

a) Binomial (2 terms) Difference of 2 squares 
b)Trinomial (3 terms) Factor into 2 binomials 
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Oct 22-2:14 PM 

Oct 22-2:19 PM 

6) 2x2  - 32 5) 202 - 2b2  

9) x2 * 7x2  + 10x 

Oct 22-2:20 PM 3 -1 
2 



Day 4 
Quiz Review 

Name 	 Factoring review 	Date 	 
OCF 

31(2  - 3x 	 -6x3  + 3x3 	 -3x6  + 15x4  

36x3  - 24x2  + 8x 	 160x3 + 100x2  - 180x 

X2  --16  

1 6x4 - 49 

Difference of squares 
X2-1 	 X2  - 121 

6x2-49z2 	 169n2-225m2  

Trinomial 
x2 -1+9 	 x2 — 6x-16 

X2 — 14x + 24 
	

X2  — — 14 	 X2  — 12x + 20 

Coefficients > 1 
2X2 - X —6 
	

2x2 + 5x+ 3 	3x2  - 13x+ 10 

5m2  + 13m — 6 
	

3x2  - 15x —18 	 3x2  - 8x —16 

Coefficients > 'I with factors 
8x2  +14x + 5 
	

6x2 - 19x+3 	6x2  + 5x + 1 

4x2  - — 14 
	

4x2  + 4x — 24 	4x2+ 15i+.14' 

Factoring completely 
2y 2  +12y-54 
	

3x2  +15x-42 	3x 2 - 27 

5az +15a +10 	4172 +6801+ 240 
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